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Paper Code MATHEMATICS Objective) Group — II
8198 Time: 30 Minutes ~ Marks: 20 w %

ob; question paper and leave other circles )
S# Questions A B C D]

1 | The altitudes of a triangle are: Concurrent | Parallel | Perpendicular Imaginary
2 | The line y = 3x passes through: Origin (4,3) (3,1) (0,3)

A quadrilateral having two parallel and two non- ; .
3 Raralil sy calich Parallelograqr{ Rhombus Trapezium Triangle
a The maximum or minimum values of ol:ugctwe The ﬂleormn Feasiﬁlr Optional

] _n.ﬂl.nu:.___mm__ b

region, is called: programming .
5 | The focus of y* = —4ax is: (0,0) (a,0)
6 | The eccentricity of parabola is: 0 1 Not defined

2 2

7 Thecenterof:—z—%zcl is: (0,0) (a Qo,b) (a,b)

If G, ¥ and W are coplaner vectors than the T
. volume of the parallelopiped so formed is: ! luxvxwl |2 2y w
9 | The magnitude of G =i+ j is: 2 & 2 N i+

2
; 3 — T 2i-j 2i-j

10 | The unit vector in the direction of 2 jis: 5 3 TJ

A function C : R — R defined by C(x) = : Constant Objective
M | xR iscalled: S | BEP | e | B
12 For the function f(x)=x", nx"! na™! 0 @

- "0} = - Does not
: 13 | If f(x)= | x|then f'( 0 1 -1 et
The sum of two in £ I’cme integer is x, s o
14 thass other will b= 9 9-x x-9 X+9

= 1 ] <]
15 | The derj 05 X is:
) o Vi-x2 V14 %2 Vi -1 VP -1
The first of Taylor Series Expansion of

31 8-X11121-2b000

.’ 16 1 tn(+x) atx=2is: 3 2 fn1 o

% 17 | jtanxdx=: sec? x secx tan x fnsecx fncosx

;-, 18 | The suitable substitution to integrate vx? -a? : x=asin@ | x=acos® | x=asecd | x=atand

D

g 19 | [e™(af(x) + F'(x)]dx = : ) | eaf(x) | e™f(x) a f(x)

v T - f|x+2| | myxe2p | —1 2
;‘E | lzsz e n|x+ fnjx+2|
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? Intermediate Part Second - @06 L. 2} Roll No,
MATHEMATICS (Subjective)  Group — II
Time: 02:30 Hours Marks: 80

SECTION -1
2. Attempt any EIGHT parts:
(i)  Determine whether the function is even or odd for f(x}=x§+6

(i) - Without finding inverse state domain and range of f(x)= ;"-‘_;} x#4

(i) Evaluate Jim ——-“;‘”‘e
(iv) Show that x =at?, y =2at represent parametric equation of y2 = 4ax

2
(v)  Differentiate w.r.t, ‘x’ if y = X_+1

16

*“‘-'**rm-ﬂﬂ'mwxw.,-

_xz_-E e s
(vi) Differentiate xz——-l-z- w.rt x4 '

(vii) Find ﬁ'xl if y = xesinx

(viii) Find y, if x7—y3=4?

(ix) Prove that -2 (cot-1x) = [:iz QO
(x)  Differentiate w.r.t. X, sin1V1-x2 0

(xi) Find % if y=esin2y &

(xii) Find y, if y=n(x? - 9) ®

3. Attempt any EIGHT parts: *\
(i)  Using differentials find % when < - fnx f@

L =
X
2 3—cos2x
(ii) Ewvaluate ITT&E‘EI dx g
(iii) Evaluate the indefinite inte

&

16

(V) Evaluate f?ﬁ%m?

4 3
A

a¥Fequation sacx+tany%=0

(viii) Find the areay ove the x-axis and under the curve y = 5-x? from Xx=-1tox=2

(ix) Show that the points A0, 2), B(Ji,—l} and C(0,-2) are vertices of a right triangle.

0] Cmvm'tﬂ:egivmeqmﬁmimomalform: ISy-8x+3=¢

(x) Findtheinwﬁwa.nglu(anym)ofﬂmh'imgieﬂmmﬁmmA(Z,—S),B{—4,—3),C{—l )|
(i) F‘mdmeqmﬁmofmhoftheli:uremtadbyzﬁ+3xy~5yz=0

P/2)

L Ry T



~ Attempt any NINE parts:

. (a)Evaluate

2. 3
FA0 -6)2

() G:aphmcsuluﬁonsetofh+y56hyshading.
(ii) Findthe value of a so that the vectors ai+], i+j+3k and 2i+j-2k are coplaner.

@iii) 10 is the origin and OP = AB . Find the point P when A and B are (~3,7)and (1, 0) respectively.
(v) If y=3i-2j+2k and w =51 j +3k, then find |3v+w|
(v) Find a unit vector perpendicular to plane containing aand b and a=-i-j-k, b=2i-3j+4k
(vi) Compute cross product, iﬂg.hxa.ifg=—4i+1e2£mﬂh=21+j_+h :
(vii) Find work done, if the point at which the constant force E= 4 +3j+5k is applied to an object moves from
RG, L-2) to B2 4, 6)
(viii) Find an equation of circle with center at (¥2,-3v/3) and radius is 22
(ix) Find length of tangent drawn from point P(-5, 4) to the circle 5x% +5y” —10x+15y -131=0
(x) Find focus and vertex of the parabola x* =4y -1
(xi) Findocnterandmenﬁ'icity uf4yz+12)r-x2+4x+l=0. o
(xii) Define circle and just write its standard equation. o
(1

(xiii) Find equation of tangent to the circle 4x% + 3y? + 5% — 13y +2=0at

jon carries 10 marks. l

[ SECTION -1 _ Attemptany THREE &b

>

x=2
[b)Differcntiate ab-initio w.r.t. ‘X7 sinvx 0
j J2

sinX+c0sX

dx
(b)Find the condition that @x ¢, Yy =MpX+C2 and y =myX+C3 are concurrent.

J23+5—Jx+'}' ) 1 " )
. (@If fGo)= T x#2 find the\ so that fis continuous at X =2
k =

(b)Maxi 2x+5ysubjecttutheconsu-aints: 2y-x <8, x-Y <4, x20, y=0
(a)Fi uation of a circle whichpassesthrough A3, 1) with radius 2 and center at2x—3y+3=0
(b)If a+ gs(}thenprovethatg_xh:gxg:gxg

o
L(@lify= acos{fnx}+bsin(£nx} prove that xz%-:.‘:-*l-x%Jky-'ﬂ

(b)Find the center, foci and vertices of hyperbola 9x* —y?-36x—6y+18=0
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